Prepared By: Chris Carmody & Jolie Murray

Bids Received: April 20, 2023

	ESCRIP	TION	ALLIANCE PAVING MATERIALS INC.		CENTRAL PAVING INC.		
ITEM NO.	ESTIMATED QUANTITY		ITEM DESCRIPTION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
1A. (DOT 202.54)	9505	SY	Removal and Disposal of <u>Asphalt</u> Pavement Material Including Cushioning Material. (Variable Depth)	\$12.00	\$114,060.00	\$12.00	\$114,060.00
1B. (DOT 582.55)	100	SY	Removal and Disposal of <u>Concrete</u> Patch Material.	\$20.00	\$2,000.00	\$12.00	\$1,200.00
2A. (DOT 403.11HL)	1140	TONS	Furnish and Install Asphalt Concrete, Type 1 (Base Course), Hand Laid	\$135.00	\$153,900.00	\$145.00	\$165,300.00
2B. (DOT 403.11ML)		TONS	Furnish and Install Asphalt Concrete, Type 1 (Base Course), Machine Laid	\$0.00	\$0.00	\$0.00	\$0.00
3A. (DOT 403.13HL)	3800	TONS	Furnish and Install Asphalt Concrete, Type 3 (Binder Course), Hand Laid.	\$135.00	\$513,000.00	\$144.00	\$547,200.00
3B. (DOT 403.13ML)		TONS	Furnish and Install Asphalt Concrete, Type 3 (Binder Course), Machine Laid.	\$0.00	\$0.00	\$0.00	\$0.00
4A. (DOT 403.18HL)	1200	TONS	Furnish and Install Asphalt Concrete, Type 7 (Top Course), Hand Laid.	\$135.00	\$162,000.00	\$146.00	\$175,200.00

	ESCRIP	TION	ALLIANCE PAVING MATERIALS INC.		CENTRAL PAVING INC.		
TEM NO. ESTIMATED QUANTITY		ITEM DESCRIPTION	UNIT PRICE EXTENSION		UNIT PRICE	EXTENSION	
4B. (DOT 403.18ML)		TONS	Furnish and Install Asphalt Concrete, Type 7 (Top Course), Machine Laid.	\$0.00	\$0.00	\$0.00	\$0.00
5A. (DOT 403.19HL)		TONS	Furnish and Install Asphalt Concrete, Type 8 (Top Course), Hand Laid.	\$0.00	\$0.00	\$0.00	\$0.00
5B. (DOT 403.19ML)		TONS	Furnish and Install Asphalt Concrete, Type 8 (Top Course), Machine Laid.	\$0.00	\$0.00	\$0.00	\$0.00
6. (DOT 203.02)	300	C.Y.	Unclassified Excavation.	\$39.00	\$11,700.00	\$30.00	\$9,000.00
7. (DOT 304.05)	300	C.Y.	Type 2 - Subbase Course	\$42.00	\$12,600.00	\$15.00	\$4,500.00
8. (DOT 608.0201)	80	S.Y.	Asphaltic Driveways, Machine Laid.	\$95.00	\$7,600.00	\$50.00	\$4,000.00
9A. (DOT 503.01)	50	C.Y.	Type A: Class C Concrete Foundation Installation, including dowel reinforcement.	\$200.00	\$10,000.00	\$300.00	\$15,000.00
9B. (DOT 503.01)	400	C.Y.	Type B: Fibercrete Foundation Installation, including dowel reinforcement.	\$270.00	\$108,000.00	\$250.00	\$100,000.00
10A. (DOT 604.07M)	2	EA	Adjustment of Manhole.	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00

	ESCRIP	TION	ALLIANCE PAVING MATERIALS INC.		CENTRAL PAVING INC.		
ITEM NO.	ESTIMATED QUANTITY		ITEM DESCRIPTION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
10B. (DOT 604.07W)	40	EA	Adjustment of Water Valve.	\$100.00	\$4,000.00	\$50.00	\$2,000.00
11. (DOT 609.02)	30	LF	Furnish and Install Stone Curb - Granite Straight.	\$90.00	\$2,700.00	\$100.00	\$3,000.00
12A. (DOT 609.04R)	50	LF	Furnish and Install Concrete Curb - Radius.	\$90.00	\$4,500.00	\$100.00	\$5,000.00
12B. (DOT 609.04S)	150	LF	Furnish and Install Concrete Curb - Straight.	\$90.00	\$13,500.00	\$50.00	\$7,500.00
13A. (DOT 609.15R)		LF	Reset Stone Curb - Radius.	\$0.00	\$0.00	\$0.00	\$0.00
13B. (DOT 609.15S)		LF	Reset Stone Curb - Straight.	\$0.00	\$0.00	\$0.00	\$0.00
14. (DOT 608.03)	50	SY	Reset Brick/Block Pavers.	\$50.00	\$2,500.00	\$20.00	\$1,000.00
15. (DOT 582.55)	4000	SY	Removal of Concrete Road Foundation.	\$5.00	\$20,000.00	\$3.00	\$12,000.00
16A. (DOT 608.01S)	500	SF	New 4" Concrete Sidewalk.	\$10.00	\$5,000.00	\$10.00	\$5,000.00
16B. (DOT 608.01D)	2000	SF	New 6" Concrete Sidewalk.	\$14.00	\$28,000.00	\$11.00	\$22,000.00
17	40	SF	Detectable Warning Fields.	\$80.00	\$3,200.00	\$80.00	\$3,200.00
18	300	LF	Saw Cutting.	\$1.00	\$300.00	\$1.00	\$300.00
19A.		LF	4" Width Pavement Striping (White).	\$0.00	\$0.00	\$0.00	\$0.00

	ESCRIP	TION	ALLIANCE PAVING MATERIALS INC.		CENTRAL PAVING INC.		
ITEM NO.	ESTIM QUAN		ITEM DESCRIPTION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
19B.		LF	4" Width Pavement Striping (Yellow).	\$0.00	\$0.00	\$0.00	\$0.00
19C.		LF	4" Width Pavement Striping (Blue).	\$0.00	\$0.00	\$0.00	\$0.00
19D.		EA	White Paint Pavement Letters, 24" Height x 4" Stroke.	\$0.00	\$0.00	\$0.00	\$0.00
19E.		EA	White Paint Pavement Symbols, 36".	\$0.00	\$0.00	\$0.00	\$0.00
20	175	SY	Topsoil, Seed & Mulch	\$10.00	\$1,750.00	\$10.00	\$1,750.00
21	300	LF	Crack/Joint Sealing	\$1.00	\$300.00	\$1.00	\$300.00
22	100	CY	Temporary Concrete Caps Class C - Winterized Concrete w1% POZZ 20	\$70.00	\$7,000.00	\$10.00	\$1,000.00
23	Lump Sum		Allowance	\$75,000.00	\$75,000.00	\$75,000.00	\$75,000.00
24. (DOT 619.01)	Lump Sum		Maintenance & Protection of Traffic.	\$8,000.00	\$8,000.00	\$1,000.00	\$1,000.00
				TOTAL 1ST	\$1,272,610.00 LOW BID	TOTAL 2ND	\$1,277,510.00 D LOW BID